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28.

warm blooded

Which of the following pairs of flowers, were:
inseet pallinated?

A.Qand R

B.Qand S

C.Rand S

D.Sand T

Identify the plant tht s non-flowering and
non-green among the following

A.sisal

B.algae

C. mould

D.moss

A pupilin class seven classified some animals
as shown in the chart below

Animals

cold blooded

| |

mammals repiles
cow  bat chameleon _toad
Which of the following animals was NOT
classified corrctly?
A cow
B. bat
C. chameleon
D. toad

‘When rays of light pass from the air onto a dark
rough surfuce, itis

A refiacted

B absorbed

C. reflected

D, dispersed

Study the food chain below and answer
questions 29

2.

30.

31

3.

33.

The primary consumer in the food chain is the
A. plant B. snake
C. mouse D. cagle

Which component of blood breaks up when
exposed 10 air forming a hard impervious layer?
A White blood s
B. Platelets
. Haemoglobin
D. Plasma

All of the following information is given on
packets of medicine bought over the counter
EXCEPT

A. disposal method of the container

B. expiry date

C. dosage

D. how to store the medicine

Plants help in control of soil erosion by

A. preventing moving water from
passing between them

B. having their leaves prevent rain water
from reaching the soil

C. having the roots hold the plants fimly
inthe soil

D. having their leaves reduce the impact
of rain drops reaching the soil

“The diagram below represcnts a foot of a
certain bird.

‘Which one of the following diagrams of beaks
belongs to the same bird?
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3.

Which oncofthe following livestock feeds
belonsto adifferent group from the other three?
A Luceme
B.Bran
C.Layers mash
D, Dairy meal

‘Which ofthe following properties of clouds
indicatesa calm weather?
A.avethick, white and mountain shaped
B.arelow in aliitudeand spread out
widely in calm flat ayers
C.are dark grey, withouta definate
shapeand occurat low altitudes
D. are feather like and found 8 1016
kam above the ground

Which one of the following isasign of ushezlthy
crops in the field?

A Stunted growth

B. Reduced rate of photosynthesis

. Discoloured grains

D.Strong firm stems.

dentify the group of mahines that work
onthe same principle as the simple machine
shown in the diagram below

A, Chisel, staircase, screw

B. Panga, wedge, ongs

€. Carjacks, knife, bottle opener
D. Wheel barrow. fishing rod, screw

Which one of the following correetly shows the
path tzken by urine from the kidney?
A Ureter —s.urethra —— bladder
B. Urethra ——y ureter—— bladder
€. Ureter — bladder—s urcthra
D. Urethra——» bladder —urcter

Sisal plantisan example ofa
A mesophyte
B hydroplate
C xerophyte
D. non flowering plant

40.

A1

The diagram below represents ascction of aheart
ofamammal

Whichofe of the following statemenisis false?

A X carries blood into the heart whereas Y tzkes
it 10 the rest of the body

B. X has a thick wall whereas Y has a thin wall

C. X carries deoxygenated blood whereas Y
carries deoxygenated blood

D. X hasno valves whereas Y has valves

Pupils ofclass eight collected equal amount of
water from four ifferent sources. They zdded
liquid soap and shook the water in the glass jar
untilitlathered. The amount of iquid soap used
wasasrecorded below

Water source

[River [ Lake [Well| Tank

Amount of liquid used [ 70m!

15ml_[1oml [95ml

a

3.

44

The wator that was least suitable for washing
clothes was the on from the
Ariver B.lske
Cowell - D.tank
‘Whichoncof the following statements s true
aboutastraight fertiliscr?
A Contains two o more macrmurients
B. Contains micro and macrorutrients
C. Contains only one macro nutrient
D. Contains oty one micrenutrient

‘Whenvie breath outthe following happen except
A. diaphragan become domeshaped

B volume of the chest decreases

C. pressure n the chest decreases.

D. pressure inthe lung increase

Amina placed two idenical tins with equal
amounts of watcr witha source of heat between
themasshown below
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4.

Black
surface

Onetin was coloured white and the ather black
‘Whichone of the following was a correet
conelusion that she made from the experiment?
A Black surfaces are good radiators of heat
B. White surfaces are good absotbers of heat
€. Black surfaces heats up more han white
surfaces ;
D, White surfaces reflect more light than black
surfaces

Which one of the following methods of passing

information on HIV/AIDs would be least

effective nthe rural areas?

of radio advertisement

B. Use ofelevision programimes
showing dangers of HIV/AIDsinfection

C. Use of newspaper

D Useof films showing infected people:

over the internet

Asignofill health in a dairy cow thata farmer
would take the longest time to notice would be
A.rough cout
B.loss of weight
C. loss of appetite
D.reductioninyield
The number of water hyancith ina lakeis likely
toincrease rapidly if

A.atea factory is built neara lake

B.aflower farm isestablished near
lake

C.amarket centre is established neara
lake

D. people started washing their carsin
the lake

Which one of he following s an example of a
poisonous weed?

A. Wandering dew

B. Thomapple

C. Sadom apple

D, Oxalis

9.

Heattransfer that result 0 melting of e cubes
placedl onatinplate in the sunis
A-conduction and radiation
B radiationand convection
C.conduction alone
D.radiationalone

Idenify alever among the tools shown below
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READ THESE INSTRUCTIONS CAREFULLY

1 hour 40 minutes

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50
questions

2. Do any necesary rough work in this booklet
3. When you have chosen your answer; mark it on the ANSWER SHEET, not in this question booklet. -
HOW TO USE THE ANSWER SHEET
4. Use an ordinary pencil
5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER
YOURNAME
NAME OF YOURSCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i e School Code Number
and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.

7. Do not make any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold i

9. For each of the questions 1-50 four answers are given. The answers are lettered A. B, C. D. In each case only
ONE of the four answers is corret, Choose the correct answer.

10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter
you have chosen is writen.

Example
In the uestion booklet

37. The tin holes on the underside of a leaf are called
A Spores B. Holes
C. Spiracles D. Stomata

‘The correct answer is D
On the answer sheet:
TIAIBIICI[D] 17 [A][B][C][D] 27[A][B][C][D] 37 [A][BI[CIF® 47 [A][B][C][D]
In the set of boxes numbered 37, the box with the leter D printed in it is marked.

11 Your dark line MUST be within the box.

12. For each questions ONLY ONE box is to be marked in each set of four boxes.

This question Paper consists of six printed pages.
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L. Conception in human beings oceur at the
A ovary
B. oviduct
C.uterus
D. vagina

‘What would happen when the number of coils
isincreased in the electromagnet shown below?

1t e o

A. The clectfomagnet would become weak
B. The nail would lose its magnetism

C. The electromagnet would become strong
. The battery would las for  fonger ime

. Which onc of the following satcments is e
about blood immediately it passes through the
lungs?

A1t colour changes from light red to
deep red

B. Carbon dioxide in the blood increases
and water vapour decreases

C.Oxygen in the blood decreases and
carbon dioxide increases

D. Both oxygen and water vapour in
the blood increases

4. Asocial effect of drug abuse is
A. lack of concentration
B. impaired judgement
C. loss of conciousness.
D. expostre to rape

5. Which one of the following statements is
incorrect?
A, All solids dissolve in water

B Theabiliy of a subsiance to dissolve:
i water is called solubility

C. Water and milk are imiscible

D. The tape in a record casette is
magnetic

6. The first dose of DPT is piven at

A.birth

B. 6 weeks

C.10 weeks

D. 14 weeks

10.

1.

12,

13.

Which one of the following converts cherical
energy int light?

A.light bulb

B. huricane lamp.

C.jiko

D. solar pancl

‘Which ane of the following practces is the most
effective in conserving soils on gentle slopes?
A. Termacing
B. Construction of gabions
C_Strip cropping
D. Ploughing along the contours.

What s the name given o the brown substance
that is formed on water when washing using hard
water and soap?
A. foam
C.lather

B. scum
D. scales

A child suffering from a nutriional deficiency
disease had the following symptoms
i) He looked thin and wealk
He had a wrinked face like that of an old man
) He had a pot belly and cried most ofthe times
The child was most likely suffering due to lack of
A. proteins
B. all types of food
C. carbohydrates
D. viiamins and fot

Which one of the following gases is correctly
matched with its percentage in the air?

Gas Percentage
A Oxygen 0.03%

B. Nitrogen 7.8%

C. Carbon dioxide 1%

D, Rare gases 0.97%

‘The energy transformation that occur in the.
filament of an elecric bulb is
A.chemical — electrical — ight
B. Heat — electrical —» ight
C. Electrical — light — heat
D. Electrical — heat — ight
‘Which one of the following sourees of energy
are both renewable?

A. Diesel and natural gas

B. Natural gas and biogas

C. Biogas and firewood

D. Natural gas and firewood
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16.

17.

18,

19.

“The type of separation illustrated by the diagram
below is

A. filiation
C. winowing
A pupil i class seven gave the following as
characateristcs of 2 hydrophyte

i) large broad leaves

ii) shallow roots

i) stomata on the lower side of the leaves

i¥) thick waxy stem

‘Whichof the following characteristics given were:
corrost?

A)i) B.ii) i)

C.iii)iv) D.i) i)

B. ditilltion
D. decaniing

An object with no definate shape and volume is
classified under

A solids

B. gascs

C. liquids

D. gascs and liquids

A piece of wood weighing 150k floats on
water while a needle weighing 30gms sinks.
This is due to

A. type of materials

B. shape.

C.sire

D. weight

Which one of the following should be avoided
during heavy thunderstorms?
A Sitting next 10 fire
B. Wearing a red shirt
C. Leaning on a vall
D. Singing as you walk
A certain drugs has the following effect on the
user when abused
i) difficult in breathing
i) vomiting
i) memory lapse

V) unconsciousness

20.

21

2.

2.

" Which one among the following was the drug.
most likely to be?
A Bhang,

C. Heroine

B. Mandrax
D. Cocaine

Which one of the following plants enrich the
nutrient status of the soil?

A. potatoes, beans, cassava

B. Grams, maize, peas

C. Peas, beans, groundnuts

D. Wheat, peas, groundnuts

‘Which of th following practices demonstraes a
change of state.

A. decaying of fiuits

B. buming of paper

C. formation of steam

D. rusting of ron

Identify the pair that represent the smallest and
the largest planets respectively

A. Mercury and Jupiter

B. Jupiter and mercury

C. Pluto and Jupiter

D. Earth and Satum

Which one of the following is NOT an
advantage of herding?

A. itis cheap to start

B. it require less labour

C. it requires less skill

D it has less feed wastage

Which one of the following crop pests is crop
correctly matched with the part of crop that
the pest damage?

Pest  Part of crop it damage
A. Weevils flowers
B. Aphids stem
C. White ants leaves.
D. Cutworm roots.

During a nature walk, clas five pupils collected
four different flowers that had the characteritics
shown below

Flower Characteristic
Strong scen, large petals
Toosely attached anthers. featherly
R sigmat
s Coloured petals. presence of neetar
Large amount of pollen grains, anthe
i ourside the fower





